J (fixation)
T
hid E[
P 0O @ ﬂ 0
® @® —
NG 5 1
_J - ERE: Foessl o | ===y
F=y=—=T77 = ]
>| I —
@ © © @ T
TP PN (P P Y 57
K K K R
| (fixation) G
L F
B E
c
U3 (minimum)
U4(minimum)
Article| Descriptions | A B C D E F G H | J K L M N o P Q R S T|U3|[U4| V
23011]160 A4P | 122|158 | 150| 99 | 124| 69 | 44 | 90 | 1307 (M6x16)| 30 | 130|175 24 | 156 | 9 | 65| 3 | 79 | 150|153 | 189|375
23021]160 A 3P+N | 122| 158 | 150| 99 | 124| 69 | 44 | 90 | 1307 (M6x16)| 30 | 130| 175 24 | 15| 9 | 65| 3 | 79 | 150|153 | 189|375
23012 lg?n’::PW'th 122|158 | 150 | 99 | 124| 69 | 44 | 90 | 130|7 (M6x16)| 30 | 130| 175|225\ 14 | 9 | 65| 3 | 79 | 150|153 | 189|375
160 A 3P+N
23022 jp o | 122(158( 150| 90 | 124 69 | 44 | 90 | 130 |7 (M6x16)| 30 | 130| 175|225 14 | @ | 65| 3 | 79 | 150 153 189|375
23013250 A4P | 135] 205 | 150 | 122| 124| 78 | 48 | 109 1707 (M6x16)| 45 | 182 | 230 |28.5| 25 |125| 11 | 3 |102.5] 150]| 121| 189| 45
23023]250 A 3P+N | 135] 205 | 150| 122| 124| 78 | 48 | 109]| 1707 (M6x16)| 45 | 182 230 |28.5] 25 1255 11| 3 |102.5 150] 121| 189| 45
23014400 A4P | 147|205 150 | 122| 124| 78 | 48 | 109 1707 (M6x16)| 45 | 182 | 230 |28.5| 25 |[125] 11| 3 |102.5| 150] 121| 189| 45
23024]400 A 3P+N | 147 | 205 | 150 | 122| 124| 78 | 48 | 109] 1707 (M6x16)| 45 | 182 230 |28.5] 25 125 11| 3 |102.5 150] 121| 189| 45
23015]630 A4P | 193] 293 | 210| 162 | 175|108 | 72 | 144 | 2407 (M6x16)| 65 | 260 | 301|31.5] 30 |155| 11 | 6 | 146 | 250 213 | 256 | 65
23025]630 A 3P+N | 193] 293 | 210| 162| 175| 108| 72 | 144 | 2407 (M6x16)| 65 | 260 301|31.5] 30 |155| 11| 6 | 146 | 250 213 | 256 | 65
230161000 A4P | 204 | 293 | 210| 162| 175 108| 72 | 144 2407 (M6x16)| 65 | 260 301|36.5| 35 |16.5] 14 | 6 | 146 | 250 213 | 256 | 65
23026]1000 A 3P+N | 204 | 293 | 210 | 162 | 175| 108 | 72 | 144 | 2407 (M6x16)| 65 | 260 | 301|36.5] 35 | 16,5 14 | 6 | 146 | 250 213 | 256 | 65
230171250 A4P | 290 | 385 | 241| 245| 206 | 127| 84 | 225| 1709 (M8x20)| 85 | 344 | 490| 50 | 50 | 25 | 18 | 10 |192.5| 330 | 244 | 2867 | 95
23027]1250 A 3P+N | 290 | 385 | 241 | 245| 206 | 127| 84 | 225 1709 (M8x20)| 85 | 344 | 490 50 | 50 | 25 | 18 | 10 |192.5| 330 | 244 | 287 | 95

U3) Minimum distance with the external door coupling installed directly on the switch shaft.
U4) Minimum distance with the external door coupling installed on a extension shaft.




